





14. (a) Find the compound interest on Rs. 5,000 at 3,
1/2 p.a. for 3 years.

Or

(b) Find the principal that will yield a compound
interest of Rs. 205 in 2 years at 5% annum.

9 1 Turls .
15, (a) If A-L 3},3-[7 12] find X in the
equation 3A +5B2X =0.

Or

(b) Examine whether the matrix A =

o W o~
L= - B
B =

PART C — (5 % 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

16. (a) Show that the triangle which has one of the
angles as 60°, can not have all verticals with
integral co-ordinates.

Or

(b) Find the equation of the medians of triangle,
the co-ordinates of whose verticals are (-1, 6),
(-3, -9) and (5, -8).
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17.

18,

19.

(a) Find the derivatives of the following :
6)) y=(x*+5)(Bx+1)

el (o |1 38
) y= FTRE
Or
(b) Prove that % = %% where y is a function

of u and © is a function of .

(a) Investigate the maxima and minima of the
function 2x® + 3x* - 36x +10.

Or

(b) Find the maximum and minimum value of the
cost function C = 5+ 2x% — x”,

(a) If a certain principal amounts to Rs, 6,677.35
at the end of two years and to Rs. 8,295.25 at
the end of three and half years when interest
is compounded semi annually, find the rate of
interest p.a, and the principal.

Or

(b) A sum of money becomes Rs. 9,195.79 in 14
months and Rs. 10,259.46 in 25 months when
interest is compounded monthly. Find the rate
of interest p.a. and the principal.

Page 6 Code No. : 3597






